Hardware



Service Parts

Washer
00000, 617029, 617036, 617038, 617089, 617090, 00000, 617026, 617028,
617037, 617062, 617092, 00000, 617001, 617003, 617004, 617005, 617006,
617007, 617014, 617016, 617018, 617019, 617023, 617027, 617032, 617034,
617040, 617045, 617048, 617053, 617054, 617059, 617060, 617061, 617064,
617065, 617067, 617069, 617072, 617073, 617076, 617082, 617086, 617091,
617093, 00000, 617008, 617009, 617010, 617015, 617017, 617020, 617021,
617022, 617033, 617042, 617044, 617047, 617058, 617068, 617075, 00000,
617066, 617081, 617082, 617088, 617094

Trans/Air Mfg. 480 E. Locust St. Dallastown, PA. 17313 (717) 246-2627
www.busacparts.com www.transairmfg.com


https://www.transairmfg.com/www.busacparts.com
https://www.transairmfg.com/www.transairmfg.com

Washer Fender

617029 - Washer, Fender, 1/2"IDx2 " OD
617036 - Washer, Fender, 3/8"ID x 1 1/2" OD
617038 - Washer, Fender, 7/16" ID x 2" OD
617089 - Washer, Fender, 3/8", SS

Washer, Fender, 5/16", 11/32" ID x 1 1/4" OD x

617090 - .047 Thk

Washer Lock External Tooth

617026 - Washer, Lock, #10, External Tooth
617028 - Washer, Lock, 1/4", External Tooth
617037 - Washer, Lock, #8, External Tooth
617062 - Washer, Lock, 1/4", External Tooth, SS
617092 - Washer, Lock, 4MM External Tooth

Washer Flat

617001 - Washer, Flat, 1/4", Type A Wide, Hardened
617003 - Washer, Flat, 5/16", Type A Wide

617004 - Washer, Flat, 3/8", Type A Wide, Hardened
617005 - Washer, Flat, 1/2", Type A Wide, Hardened
617006 - Washer, Flat, #10, USS, .56" OD x .25" ID
617007 - Washer, Flat, #10, Brass

617014 - Washer, Flat, 5/8",Heavy Structural, Plain
617016 - Washer, Flat, 7/16", Type A Wide, Hardened
617018 - Washer, Flat #6, USS

617019 - Washer, Flat, #10, SAE, .5" OD x .22" ID
617023 - Washer, Flat, 7/16", Type A, Hardened
617027 - Washer, Flat, 5/8", Type A Wide, Hardened
617032 - Washer, Flat, #8, SAE, Steel

617034 - Washer, Flat, 10MM

617040 - Washer, Flat, 3/8", Type A, Hardened
617045 - Washer, Flat, 5/8", Type A, Hardened

Washer, Flat, 1/2" Bolt Size, Hardened, 1-1/8" OD
x 17/32" ID x 1/8" Thk

617053 - Washer, Flat, .75" x 2.00" x .06" Thk

Washer, Flat, 7/16" Extra Thick, Gr 8, Approx .125
Thk

617059 - Washer, Flat, 1/4", Type A, Hardened
617060 - Washer, Flat, #8 Type B, Wide

617061 - Washer, Flat, 1/4", Narrow SS

617064 - Washer, Flat, 8MM, 8.4MM ID x 16 MM OD
617065 - Washer, Flat, 12MM, 13MM ID x 24MM OD
617067 - Washer, Flat, 14MM, 15MM ID x 28MM OD

617048 -

617054 -

Trans/Air Mfg. 480 E. Locust St. Dallastown, PA. 17313 (717) 246-2627
www.busacparts.com www.transairmfg.com


https://www.transairmfg.com/www.busacparts.com
https://www.transairmfg.com/www.transairmfg.com

617069 - Washer, Flat, 6MM, 6.4MM ID x 12MM OD
617072 - Washer, Flat, #4, SAE, 5/16" OD x 1/8" ID

Washer, Flat, 8BMM, 8.4MM ID x 22MM OD, Extra
Thick

617076 - Washer, Flat, 16 MM, 17MM ID x 30MM OD
617082 - Washer, Flat, 5/16" Type B, Narrow

617086 - Washer, Flat, 9/16", Narrow

617091 - Washer, Flat, 8MM ID x 16 MM OD x 3MM Thk
617093 - Washer, Flat, 4MM, SS

617073 -

Washer Split Lock

617008 - Washer, Split Lock, 1/4", High Alloy Stl
617009 - Washer, Split Lock, 3/8", High Alloy Stl
617010 - Washer, Split Lock, #10

617015 - Washer, Split Lock, 5/16", High Alloy Stl
617017 - Washer, Split Lock, 7/16", High Alloy Stl
617020 - Washer, Split Lock, 1/2", High Alloy Stl
617021 - Washer, Split Lock, 8MM,

617022 - Washer, Split Lock, 10MM

617033 - Washer, Split Lock, 5/16"

617042 - Washer, Split Lock, 12MM

617044 - Washer, Split Lock, 14MM

617047 - Washer, Split Lock, #10, Grade 8
617058 - Washer, Split Lock, 16MM

617068 - Washer, Split Lock, #8

617075 - Washer, Split Lock #6

Washer, Special
617066 - Washer, Flat, Nylon, #10,.195" ID x .375" OD

Washer, Neoprene, #10, 0.17" x 0.50" x .093 Thk,
Flame and Oil Resistant

617082 - Washer, Flat, 5/16" Type B, Narrow
617088 - Washer, Rubber, .74 ID, 1.5" OD, .1" Thk
617094 - Washer, Rubber, .25" ID X 1.44" OD

617081 -

Trans/Air Mfg. 480 E. Locust St. Dallastown, PA. 17313 (717) 246-2627
www.busacparts.com www.transairmfg.com


https://www.transairmfg.com/www.busacparts.com
https://www.transairmfg.com/www.transairmfg.com

